ROIl NO. & icivesessnrsnsineasassessesas Total Pages : 11

5842

M.Com. (Previous) Banking & Bus. Eco.
Examination, 2018

FINANCIAL MANAGEMENT
Paper - 11

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
-~ (TUe-3)
Answer all questions (50 words each).
All questions carry equal marks.
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PART-B [Marks : 50]
(ETe-9)
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.
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PART-C [Marks : 30]
(@ve-9)
Answer any two questions (300 words each).
All questions carry equal marks.

ﬂﬁmﬁmlmmmwsoowﬁ
o 7 B Tl T ® ofF §EE R
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PART-A
(@ug-237)
1.  Answer all question.

aft vl F I G
UNIT-I

(FTE-I)

1. (@) Give two characteristics of Sound Financial Plan.

7% fodm Ao w1 S favivend @i
(i) How fixed assets are estimated ?
W el w1 oo m R wmar W 20
UNIT-II
(FhTE-1II)
(i) What is meant by Capital Gearing ?
oot e @ w e # 0

(iv) What is the difference between Capital structure and
Capitalization ?

T T T TR § s oemm 20
UNIT-III

(STE-11D)

(v) Current liabilities of a company are Rs. 10,000.
Its Current Ratio is 3 : 1 and Quick Ratio 1 : 1.
Calculate the value of stock.

TF FEA H A AR 100007 ¥ wE W
ST 3 : 1 AN AN SUS 1 : 1§ Wy
RUNIE 3 e
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(vi) How depreciation is a source of funds ?

T M F W B g R?

UNIT-IV
FFE-1V)
(vii) What is Rationing in Capital Budgeting ?
¥ wwer °§ kM oF ¥ 2
(viii) What is Certainty equivalent ?
fafyemm g w1 § 2

UNIT-V

FFE-V)
(ix) Distinguish between Gross working capital and
Net working capital.
¥Fa 0 ($ wEvE §t H oW waedl
(x) Whatis Concentration Banking ?

ﬂ%méﬁmwﬂ?ﬁ%?

PART-B
(gue-¥)

UNIT-1
@=E-1)

2. What is a 'Financial Plan' ? How is it administered ?

mm@wwww%ﬂmm%?
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OR
(37eFam)

Define Derivative contracts, and discuss SEBI guidelines
for derivatives.

wﬁ%ﬁ‘maﬂtmmﬂ“ﬂﬁ"ﬁ
fem-fdell #1 fdem i

UNIT-II

(FHTE-II)

Aruna Ltd. has current operating income of Rs. 8 lakhs.
It has Rs. 20 lakhs of 10% debt outstanding. The company's
cost of equity capital is estimated to be 15%. The company
is contempleting to increase its leverage by issuing
debentures worth Rs. 10,00,000 and use the process to
retire the amount of equity. As a result of increased financial
risk, the overall cost of debt is likely to go up to 12% and
cost of equity (Ke) to 20%.

You are required to determine the current value of
Aruna Ltd. using traditional model. Give your
recommendations regarding the company's proposal to
increases its leverage.

eon fafite #t = wRerem o 8 o v, ) w5 T
20 TG T. F 10% O TERT ¥ FEER B mrE w6
o A 15% #1 FEA 10,00,000 7 B FOTH TR T
S ¥ e T W RER # @ § a9 w9 R @ o
T I AR f o R @ e St @
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OR

(erEn)
What is Weighted average cost of capital ? Illustrate with
the help of imaginary figures.
mmﬂﬁﬁmﬂmwmﬁ?ﬁ
FEIE TRl w1 FEE 3 w= Hha

UNIT-III
(z@TE-111)

4. Prepare the Balance-Sheet of PQR Ltd. on
31st March, 2017 from the following information

ﬁﬂﬁtﬁmqﬂaﬁﬁmkfaﬁﬁ'smsl wrE, 2017
1 e faE R P

Fixed Assets to Net Worth 075 31
Current ratio il 4
Acid test ratio g 5148
Reserve into capital - 1:4
Current liabilities Rs. 2,00,000
Cash and Bank Balance Rs. 10,000
Fixed Assets Rs. 6,00,000
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OR

(37eram)
A Ltd. earned R, 6,00,000 profit from the following
information :

Afa.#ﬁwmmwﬁaﬁwn#magqs,oomoa
FT AN FEET .

Rs.

1 Depreciation on Fixed Assets 17,000
(i) Loss on Sale of Land 5,000
(iii) Provision for Doubtful debts 1,100
(iv) Provision for Taxation 80,000
(v)  Transfer to General reserve 14,000
(vi) Profit on Sale of Machinery 13,000
Additional Informations :
Afafam W 4
Particular 31-3-16 31-3-17

(Rs.) (Rs.)
Debtors 12,000 15,000
Creditors 10,000 15,000
Bills Receivable 10,000 8,500
Bills Payable 8,000 6,000
Outstanding Expenses 5,000 4,000
Prepaid Expenses 200 300

You are required to calculate cash from operation.

mmﬁmﬁWaﬁmﬁﬁmwﬁn
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UNIT-1V

(FFTE-IV)
5. A project Cash out-flows and Cash in-flows are given
as follow : )

w%@ﬂmﬂa&mmmﬁm
™ E:

Year Cash out-flows Present Cash in-flows
Value of Re. |
@ 10%

0 15,000 1 —

1 3,000 .909 2,000
2 — .826 3,000
3 — 51 6,000
4 — .683 8,000
5 — .620 3,000
5 — .620 4,000

Is it a usefu] Investment ? Compare according to the
Net Present value and Proﬁtability Index method.

mﬁﬁw}nmé?maﬁmwpﬁrﬁ;w
mﬁmmémmﬁml
OR
(37eram)

Examine critically the 'Wajter formula' of Dividend policy.

mﬁﬁﬁwﬁmﬂ‘mw'ﬁmml
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UNIT-V
(FFE-V)

On the basis of the following informations, calculate
the requirement of Working capital :

ﬁaﬁaﬂﬁw&ffﬁmmmﬂa@aﬁm
F TR HI

Estimated Production Level 44,000 tonnes
(ST W AT &)
Period of Raw material 4 weeks
(F=1 T H )
Conversion Period 2 weeks
(wfFn @)
Storage period of Finished goods 6 weeks
(am W@ W W )
Closing stock 400 tonnes
(afm =fH)
Credit allowed to customer 8 weeks
(TEF H @)
Ratio of material on selling price 72%
(et w1 fEwd T )
Ratio of wages and overhead 22%
(ol qen SYREmE W JTI)
Selling price per tonne Rs. 3,000
(Fpa T W)
OR
(=)

Explain in detail the various Steps of Cash Management.

mmaﬁfsﬁmaﬂmﬁﬁmml
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PART-C
(Tvs-w)
UNIT-I

(FFE-I)

7. Define Option, and discuss Call and Put option fully.
foFe #t Rufm R, 7o w5 foFes @

UNIT-11

(¥T$-1D)
8.  The Balance-sheet of Company X, Y, Z Ltd. on 31st March,
2017 is given below : '

T X, Y, Z A w31 me, 2017 =1 fezgr fs
pea il

Liabilities Amt. | Assets Amt,
Share Capital Goodwill 75,000
(1,00,000 Shares Machinery 65,000
@ Rs. 10 each) 10,00,000 | Furniture 4,35,000
Reserve and Surplus 85,000 | Debtors 3,75,000
Bank Loan 80,000 | B/R 50,000
Creditors 14,500 | Closing Stock 1,50,000
B/P 7,500 | Preliminary Exp] 43,200
Unclaimed Dividend 5,000
Outstanding Salary 1,200
11,93,200 11,93,200
Average Profit of the Company Rs. 2,00,000
(Foft #1 Shwd @)
Cost of Capital 20%
(3t #t =)
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10.

State whether the company is in the state of
Overcapitalisation. Discuss briefly.
mﬁwmmmﬁmﬁﬁuﬁﬁ% ? Qe
# e S

UNIT-III

(gehTe-110)
Explain the Statement of Fund flow with suitable
example.

mmﬁémm@mmﬁmﬁ
qHEET ;

UNIT-IV
(FE-1V)

Details of three companies are given below :
mmﬁﬁaﬁﬁﬁﬁﬂwﬁﬁm‘%:

Growth Ltd. Normal Ltd. Decline Ltd.

r=15% = 10% r=28%

Ke = 10% Ke = 10% Ke = 10%

E =Rs. 10 E = Rs. 10 E =Rs. 10
Calculate Market value of the share of each company using
of Gordon formula when Retention Ratio is (i) 40%
(ii) 60%, (iii) 80%, and (iv) 100%.
fé1 3 WS w WM FW@ E TEE FEA B
F AER YA A FIWC  EfE wigenfar ST
(i) 40%, (ii) 60%, (iii) 80%, T (iv) 100% B!
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UNIT-V

FFTE-V)

11. Explain the meaning of Material control and explain its
different techniques.

mﬁwwﬁadmaﬁmwmﬁﬁm
TFAIRl F A F
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